# LIST OF SC STUDENTS ENROLLED IN 4<sup>TH</sup> QUARTER JANUARY, FEBRUARY & MARCH 2023

#### Name of the Course: Post Diploma in Advance Animation & Film Making

Fees: Rs. 80,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Saurav Sudhir Lokhande	Sudhir Lokhande	*******312
2	Tarunya Mohan Suryavanshi	Mohan Suryavanshi	******945
3	Pravin Mohan Suryavanshi	Mohan Suryavanshi	******339
4	Omkar Tukaram Jadhav	Tukaram Jadhav	*******685
5	Rohan Mahesh Shinde	Mahesh Shinde	******588
6	Mitesh Mahendra Pawar	Mahendra Pawar	******261
7	Virendra Ravindra Jadhav	Ravindra Jadhav	******844
8	Hrutik Deepak Kamble	Deepak Kamble	*******381
9	Yogita Pradeep Ambavade	Pradeep Ambavade	******135
10	Karan Rajendra Mohan	Rajendra Mohan	*******956
11	Manish Ramesh Tambe	Ramesh Tambe	******530
12	Akash Ashok Kamble	Ashok Kamble	*******761
13	Athang Ajit Korlekar	Ajit Korlekar	*******111
14	Yogesh Shivkumar Jaiswar	Shivkumar Jaiswar	******226
15	Manish Jagdish Galchar	Jagdish Galchar	******198
16	Sonu Ramchandra Waghmare	Ramchandra Waghmare	******807

# LIST OF SC STUDENTS ENROLLED IN $4^{TH}$ QUARTER JANUARY, FEBRUARY & MARCH 2023

# Name of the Course: Post Diploma in Advance Animation & Film Making

Fees: Rs. 40,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Mayur Manoj Pawar	Mayur Manoj Pawar	*******957
2	Girish Raju Punwatkar	Girish Raju Punwatkar	*******670
3	Shubham Rajesh Savlikar	Shubham Rajesh Savlikar	******591
4	Sourabh Kumar Ranjane	Sourabh Kumar Ranjane	*******724
5	Aditya Anil Mohite	Aditya Anil Mohite	******469
6	Shruti Santosh Pagare	Shruti Santosh Pagare	*******176
7	Ayush Ajay Jadhav	Ayush Ajay Jadhav	*******077
8	Sandhya Deepak Kamble	Sandhya Deepak Kamble	******403
9	Abhishek Mangesh Gaikar	Abhishek Mangesh Gaikar	*******773
10	Mrunali Deepak Kamble	Mrunali Deepak Kamble	*******181
11	Atul Dilip Gaikwad	Atul Dilip Gaikwad	*******269
12	Asmita Bharat Chandanshive	Asmita Bharat Chandanshive	*******344
13	Nikhil Bhimrao Bansode	Nikhil Bhimrao Bansode	*******716
14	Vinay Malviya	Ramdas Malviya	*******975

#### LIST OF SC STUDENTS ENROLLED IN $4^{TH}$ QUARTER JANUARY, FEBRUARY & MARCH 2023

Name of the Course: Post Graduate Diploma in Advanced Animation & Film Making

Fees: Rs. 1,20,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Ganesh Narayan Pawar	Narayan Pawar	*******200
2	Deepak Ganpat Mohite	Ganpat Mohite	*******166
3	Gautam Digambar Jadhav	Digambar Jadhav	******147
TOTAL Rs. 1,20,000 x 3 = Rs. 3,60,000/-			

Name of the Course: Post Graduate Diploma in Advanced Animation & Film Making Fees: Rs. 80,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Anil Pirappa Moharkar	Pirappa Moharkar	*******934
2	Shubham Ranjeet Shinde	Ranjeet Shinde	*******370
3	Rohit laxman Kesawalekar	Laxman Kesawalekar	*******804
TOTAL Rs. 80,000 x 3 = Rs. 2,40,000/-			

# LIST OF SC STUDENTS ENROLLED IN $4^{TH}$ QUARTER JANUARY, FEBRUARY & MARCH 2023

Name of the Course: Post Graduate Diploma in Tool Design & CAD/CAM

Fees: Rs. 1,20,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Vishwendra Mangesh Fule	Mangesh Fule	*******599
2	Samarth Arun Shirkar	Arun Shirkar	*******542
TOTAL Rs. 1,20,000 x 2 = Rs. 2,40,000/-			

Name of the Course: Audio Video

Fees: Rs. 15,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Suyash Rakesh Jadhav	Rakesh Jadhav	*******227
2	Kshitij Ramesh Shinde	Ramesh Shinde	******972
3	Sanket Sidharth Ijgaj	Sidharth Ijgaj	******739
4	Aayush Pandurang Jadhav	Pandurang Jadhav	******416
5	Narendra Vittal Suryavanshi	Vittal Suryavanshi	******263
6	Shreyash Umesh Sonawane	Umesh Sonawane	******541
7	Laxman Gajanan Bobade	Gajanan Bobade	******832
8	Premkumar Dhanraj Kamble	Dhanraj Kamble	******362
9	Nikhil Shashikant Kamble	Shashikant Kamble	******338
10	Manish Ambadas Gathe	Ambadas Gathe	*******687
TOTAL Rs. 15,000 x 10 = Rs. 1,50,000/-			

#### LIST OF SC STUDENTS ENROLLED IN $4^{TH}$ QUARTER JANUARY, FEBRUARY & MARCH 2023

Name of the Course: Autocad

Fees: Rs. 4,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Kumar Tukaram Gaikwad	Tukaram Gaikwad	*******828
2	Nilesh Samadhan Salve	Samadhan Salve	*******226
3	Nikita Nadkumar Bansode	Nadkumar Bansode	*******280
4	Nishant Dnyaneshwar Chandbodhale	Dnyaneshwar Chandbodhale	******308
5	Aditya Anant Waghchaure	Anant Waghchaure	*******280
	TOTAL Rs. 4,000 x 5 = Rs. 20,000/-		

Name of the Course: Delcam

Fees: Rs. 10,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Vishal Nivrutti Pawar	Nivrutti Pawar	*******436
TOTAL Rs. 10,000 x 1 = Rs. 10,000/-			

Name of the Course: Catia

Fees: Rs. 10,000/- per student

Sr. No.	Name of the Student	Father's Name	Aadhaar Card No.
1	Sainath Kishan Kadam	Kishan Kadam	*******178
TOTAL Rs. 10,000 x 1 = Rs. 10,000/-			